THBFEKEREHR(4R)

(%K) 2%/ E | AH3E4F138
KEEEEER BT Hokis BLIKi5 *2TH #1TH FEEtATH %*6TH HAEfE
o1 [—AHE &/ml 0 0 0 0 0 0 1mifp 100
02 [KIFHE - TR H T TR H T TR H TR TR
HO03 [AFIHVLRUZDILEY mg/ — — — — — — 0.003 mg/IAF
o4 | KBRUZDIEED mg/| - - - — - — 0.0005 mg/ILLTF
H05 | ELVRUZDIEEY me/! - - - - - — 0.01 mg/ILLTF
206 [SARUZTDILEY mg/| - — - — - — 0.01 mg/ILLTF
07 |[ERRUZDIEEY mg/| - — - — - — 0.01 mg/ILLTF
#o8 | AR LILEY mg/| - - - - - — 0.02 mg/ILAF
Ho9 (FEHBERER mg/| - — - - - — 0.04 mg/IAF
10 [v7oemrAo USRS TS me/ - — - — - — 0.01 mg/IAF
Hi1 |HEE- EHEREER me/ 05 12 1.2 0.6 0.9 1.2 10 mg/ILAF
212 [DVvRRUVZDILED mg/| - - - — - — 08 mg/IUTF
13 |RIRRUZDILEY mg/| - — - — - — 1.0 mg/ILLF
Hi14 B RS mg/| - - - — - — 0.002 mg/ILATF
15 |14~V 154y mg/| - - — - — - 0.05 mg/IATF
16 9x—1,2—~’/7uu;¥w&zﬁ g/l _ B _ B _ B 004 mg/IELT
rS2Z-1,2-Y9ARIFLY

17 [Corooray mg/I - - - - - - 0.02 mg/IAT
18 [FrZYOATFLY mg/| - — - - - — 0.01 mg/IAF
19 [F)yoOTFLY mg/| - — - - - — 0.01 mg/IAF
H20 |[RotEy mg/I - - - - - - 001 mg/IATF
H21 |IEREE mg/I — - — - — - 0.6 mg/IATF
22 (HOOEEE mg/| - - — - — - 0.02 mg/IATF
23 (yookRILL mg/I — - — - - - 0.06 mg/IATF
H24 (CHOOEES mg/| - — — - — - 0.03 mg/IATF
Hos [CTOE/OOAZY me/ - — - - - — 0.1 mg/IATF
Ho6 |RX%ER mg/I — - — - — - 001 mg/IATF
H27 [#aryOray mg/I - - - - - - 0.1 mg/IATF
Ho2g (M)HYOOEFEE mg/| - - — - — - 0.03 mg/IATF
o9 |JnESH/OOAEY mg/I — - — - — - 0.03 mg/IATF
#30 |TAERILL mg/I| — - — - — - 0.09 mg/IATF
31 |FRILLTILTER mg/I - - - - - - 0.08 mg/IATF
H32 |HESRUZDIEEY mg/| - — - — - — 1.0 mg/ILLF
H33 |[FILE=HILRUZFDIEED mg/I - - - - - - 0.2 mg/IATF
H34 |HRUZDIEEY mg/| - - - - - — 0.3 mg/IUTF
H35 [ARVZDILEY mg/| - — - — - — 1.0 mg/ILLF
H36 [FrUDLRUZDIEEY me/! - — - — - — 200 mg/ILLTF
H37 |RUAVRUVZEDIEED me/! - - - - - — 0.05 mg/ILLTF
£38 (&1 4> mg/| 61,2 173 17.0 54.5 34.9 16.9 200 mg/ILLTF
Hae | EHME mg/I 1.0 0.7 0.7 0.9 0.8 0.7 3 mg/IUTF
Ha47 |PHE - 75 7.2 71 75 7.4 7.2 580 8.6
H48 (oK - BELL BELGL BELGL BELL BELL 2150 BEETHIIE
49 [BR - BELL BEGL BEELGL BELL BELL 25150 BEETHIIE
H50 [&E ;-3 15K 1K 15K 1K [ES: (S 5 EUT
51 | BE E 0.1k 0.1Ki% 0.1k 0.1Ki% 0.1Ki% 0.1Ki% 2 EUT

X R2TB=rhERELENHKE
F1TE=E=fRELENHEKE
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*6TB=RARELENHEKIE




